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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name : Estimating, Costing and Contracting

Subject Code : 2TEO6ECC1

Branch: Diploma(Mechanical)

Semester : 6 Date : 09/05/2016 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

a)

b)

d)

Attempt the following questions:

The component of total cost which never changes with change in level of
production is classified

A. Fixed cost

B. Constant

C. Variable

D. Bothaand b

The acquisition cost of raw material to be used in the manufacturing and become
component of cost object is classified as

A. Direct material costs

B. Indirect material costs

C. Direct labor costs

D. Indirect labor costs

The direct material cost is Rs.5500 and the prime cost is Rs.25000 then the direct
manufacturing labor is

A. Rs.19,500

B. Rs.30,500

C. Rs.45,500

D. Rs.22,500

Weight of filler rod can be found by

A EXLXp
LA

B. Ixd*xLxp
C.

IxdZxp
& 000000
L

D. Ixd®xL

p - - - -
Power consumption (kwh) in arc welding is equal to
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f)

9)

h)

)

K)

A. —Eu X welding time (hrs)

—x1000
100
E
B m}(lﬂﬂﬂ
" vx I xwelding time (hrs)
C vxI
. E
—x1000

100
D. None of the above
In forging operations the loss of material due to surface oxidation in heating and
forging the job is known as....
A. Scale loss
B. Flash loss
C. Tong loss
D. Sprue loss
Shear loss is generally taken as ........
A. 5 % of net weight
B. 5 % of gross weight
C. 7 % of net weight
D. 7 % of gross weight
The distance over which the cutter must be in engaged before the full depth of cut
isreached is .........
A. Overrun
B. Approach
C. Feed
D.Depth of cut
Knurling is to be done on the surface of the job of diameter 3cm up to 6¢cm
length.if cutting speed is 20m/min and feed is 0.03cm/rev. Then calculate
knurling time..
A. 0.942 min
B. 94.42min
C. 94.2min
D. 0.6min
Flash periphery x20x3 cu.mm=
A. Shape volume
B. Gross volume
C. Volume of flash
D. Net weight
The value of building,machine or equipment calculated by deducting depreciation
at perticular time during their service life is known as....
A. Market value
B. Book value
C.Scrap value
D. Salvage Value
The quantity of manufactured goods sold at which the total cost equals to total
sales revenue is classified as
A. breakeven point
B. cost point



C. revenue point

D. quantity point

Catalogue price — Discount = ........

A. Loss

B. Profit

C. Selling Price

D. Office cost

The financial or quantitative interpretation prior to a pre defined period of time
of a policy to be pursued for that period to attain given objective or goal is
called...

A. contract

B. Budget

C. Cost accounting

D. Cost estimating

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

A

© >

o >

Differentiate between costing and estimating.
The expenditure incurred by an industry to manufacture 1000 steel bolts are :
Direct material cost = Rs.300,Direct labor cost= Rs.220 and expenditure to tools
= Rs.50. Overhead expenses are 150% of Direct Labor cost ; selling and
distribution overhead 20% of factory cost; Packing charges Rs. 20. If total profit
is Rs.200, find the selling price of each bolt.
Define breakeven point and state its importance in industry
The financial statement of a manufacturing company for a particular year is as
under.
i) Total sales = Rs. 80 lacs
i) Variable cost = Rs. 55 lacs
iii) Fixed cost = Rs. 10 lacs
iv) Net profit = Rs. 15 lacs
v) Nos. of product produced = 50,000
Find breakeven point graphically and analytically.
State factors affecting the welding cost.
Estimate the actual welding cost for preparing an open tank of
1000mmx1000mmx1000mm by gas welding. The size of sheets used is 3mm.
welding is required to be done only in inner side.
Welding speed = 12 min/meter of weld
Oxygen consumption = 0.12 m*/hr
Acetylene consumption = 0.07 m*/hr
Length of filler rod required = 1.6m/ meter of weld
Cost of oxygen = Rs. 10/ m®
Cost of acetylene = Rs. 50/ m*
Cost of filler rod = Rs. 60/Kg
Density of filler rod = 9 gms per C.C.
Diameter of filler rod = 2.25mm
Fatigue allowance =5 %
Labour rate = Rs. 10/ hr
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Q-5

Q-8

A

B

@ >

Explain elements of cost in foundry shop.
Calculate the net weight and gross weight for the component shown in Figure.
Density of material used is 7.86 gm/cc. Also calculate :
(i) Length of 14 mm dia bar required to forge one component.
(i) Cost of forging/piece if :
Material cost = Rs. 80 per kg
Labour cost = Rs. 5 per piece
Overheads = 150 percent of labour cost.

40
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Explain approach length and over travel in case of milling operation.

A mild steel bar 100 mm long and 38 mm in diameter is turned to 35 mm dia.
And was again turned to a diameter of 32 mm over a length of 40 mm as shown
in the Figure. The bar was machined at both the ends to give a chamfer of 45° x 5
mm after facing. Calculate the machining time. Assume cutting speed of 60
m/min and feed 0.4 mm/rev. The depth of cut is not to exceed 3 mm in any
operation.
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Explain the importance of estimation of process cost along with process cost
estimation sheet.
A thermal power plant produces 80Mw to satisfy the maximum demand. Load
factor of plant is 40% . Estimate power generation cost per unit, taking:

Capital investment /kw = Rs. 1800

Interest and depreciation = 12 %

Operating cost per year = Rs. 1.94/ kwh
State various types of contract and their conditions
State various types of budget. Compare master budget and production budget.
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Q-1

a)

b)

c)

d)

f)

%Al

ol Aol dslAAs Ysllotl sclloll AW,
S WLl A tUes 3 B GeulEol xctRell 5512 UA HecAlA otl ...
A RAR[(Bud
B. 5lotes2 (M
c. ARAud (Bud
D. AuaBua
516 As clRe] clotletall M2 33 1A 1A 3 B A5 ULss2 olold doll WA 9 53 B 2
A yctel Hal3lad W
B. wycuel Hl3laAd Wi
C. Ycuet HoRl Wl
D. wycuel 1Rl Wil
S8 As ci datlalal HIZ Yt HEllaAA WA Rs.5500 &lal sl YIETH W3 Rs.25000 Sl

Al Ycdet Geulgol 13l W 32l ©dl?

A. Rs.19,500
B. Rs.30,500
C. Rs.45,500
D. Rs.22,500
SleAR Ase] et o{lAotl Yot uRell Ancll austaL.
EXLXp
dz
B. Xd*XLxp
Ixd®xp
¢ =
Ixd®xL
& 00000
o
LS ACSOIML ULeR cuRL2l(kwh) 2ucll Hize] YA....
I . .
—EL X welding time (hrs)

—x1000
100

D.

E
—x1000
B. 100

v X I Xwelding time (hrs)
vxI

—x1000
100

D. None of the above

STol A uRaet eMauat §lEloL wal flotell wwdl WWEAIA A B Bl s1RA AU
ajsllot........... 313 Wava B.
A B A

C.
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9)

h)

)

K)

B. sAaAA

c. bid
D. YA
Q4R ofs2llet AHIRU AA........... Aol AUA B

A, o2 d%el ol W%
B. §G d¥eloll U%
C. ol d%ololl 9%
D. §A Aol 9%
s2o{l A3l UlA AL YLHL gt 3 522 LRl ULl vdRa......53 B.
A, AR Rel
B. Ay
c. $ls
D. SwL s se
As 3AHL stauHleetl Blot ofl Awdl uR sA M. cote Yl tcllot sReute] ®.21 sdlot dlls

U 4ls ejsA 20 Hl/Mlolle wal 0.03 AL/ Aot flat A atcllot unAt.....

A. 0.942 min
B. 94.42min
C. 94.2min
D. 0.6min
Flash periphery x20x3 cu.mm =

A AU AR
B. Ol AlyH
C. $Q ARH

D. a2 dAYH
165 Ul Uslot/aHlot 3 H2llotoll sUollott Slatell AustHL B Sl wisal UL 4l Sl dal
...... 58 ©.

A oR Bud

B. AU (EHd

C.  cUR (8ud

D. AcA¥ (BHd

Al @A >l Wss20] BeulEot WA Aol AULRL WIS AU UL B,
A As-8del W8ee
B. sl WS
C. R U2
D. s uelal.
SecAlol el - (3281Go2 = .......
A dsalsl



B. a8
C. aue(Eud
D.  EA wA
N Assy GRal AUl N Yitd scll W2 Yd RuiRd uHat UdEl sauml vdadl steusla
wall seUlHs wddedd ofl[Aa.......58 B.
$AR
%2
C.  WAsG2aL
D. (uct el
o{lAetl Q-2 ol Q-8 Ul US| 518 ULl UReAL el AUl

w

Q-2 A AR3lLua ARIAEL AL dgteldl AUl
B A5 GeulEot ASHHL 1000 oidl Bl vllee olotlelall Hizell Wo{l (Aol ol A yxa B
Yyl Hél3lad Wl = 3.300
Yl 13l Wl = 3.220
G Hizell WL = 3.u0
R 35 WAL 1Rl WRAoll 1U0% , AULRL Aol clclRULUs AW ARSS $523 SlReoll 0% ol
UL WRL 3. 20 &l Al 5 o1l 3. 200 Anclell 12 A s ollceo(l AuLRL (B M.
Q3 A gsfael Wozell cutvll UL Aoj o531 Hecet UL
B AsGaues Wdloll stieuslal alils viiaisell (Qotd oA Yoy B,
$A AL = Rs. 80 Glw
YAl W = Rs. 55 AW
(35 W = Rs. 10 Alw
§CG 18l = Rs. 15 Gl
wolldet Ylsseall vl = 50,000
U@ ls ua dgell A As Salot Wozall Rl 3.
Q-4 A Aeslolwrlal AR sl Ulotdll eseudl.
B 1000x9000x1000 ofl ¥Uet 5 A Acslatell slotictal M2 WAWR AL (BHd 20t
AcsloHl auRldl 2esll asies 3 HlHl B, Aeslol $5ct vieRell vy sclla] D,
acslot xls= 12 min/meter of weld
U (5A%otoll AU = 0.12 m¥/hr
AR Aletall cauRiel = 0.07 m¥/hr
(3ctR Asell doues = 1.6m/ meter of weld
WU (5A%etoll WA = Rs. 10/ m?®
ARE Alotell WL = Rs. 50/ m®
(312 As Wl = Rs. 60/Kg
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Q-5

Q-6

Q-7

BeR Asell edotctt = 9 AL Yl eot AL
(3R Asell calt= 2.25 {LH{l.
$3lol AABRL=5%
13l €2 = Rs. 10 YA scis AL
$1Gogl AUt WRIA MUR 5l UIlotol e,
AUgA Ui elAd ellotl MR A2 d¥et wal NAU d¥otoll ARl 5. URIuce{l Uotcll
7.86 gm/cc AL g Ui :
(i) ¥ mm < cllout %331 eL(lotiell coiles ual
(ii) €12(lott €ls Sl¥Tol Wl 20l
HRIl2AA WRi= Rs. 80 per kg, HYI| WA = Rs. 5 per piece ol A cAR&S W = HYI| W oll
150 % L.

40°
30°

20°
14°

A 4

L 20 =L 25 e 20 > 50 _

Aclot 2UUR2etotl (SRUHL AYLRU W AR LA AHHLAL

oLl diol wal 3¢l call clol AHAU. oll A5 25Slof BlglAnl elcal Yool
2oflot satl 2A B, o B JAoL sl wle 45° x 5 mm of A1gIoL seUM WA B, WA
elollott 12 Halloflor wWalell olatddl sA. €35 WU U2 31 2lg s2 3l 52l ad

ol(d A A s2lot 2Uls U §ls AafsN 60 m/min we\ 0.4 mmirev UL,

- 100
> 40

32!
U]
'35

NAY Well AN 2etoll WLl “ NAY S22 ANt 2ll2” UGl AH Al

HedAM w332l USAl anal As AMA ULER Wello glRL 8OMW UlcRe] GAUlEel SRClMHL
UA D Boll AlS ¥522 40% B. Al UlCR Welloz M2 AsH Y[A2o] GeulEol sl M2 W
UEL AsH kW WeR €ls YIL AsLRL = Rs. 1800, cUl% Aol HEAU UM = 12 %, UUREL
WL YA a = Rs. 1.94/ kwh AL

Sloglseoll el YEL USLRA ¥R Wal Aol AR AW,

olB2otl YEL YEL USIR QU Bal HIRR 6182 AMY Uls52at olBeefl AuuHell 3.
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